HAIRUEF EDERBCEDBER(SH2FE4RA1BRE)
(1) —AEBAA 2=

s 4 ERANEEBBERICHEET S = AER B84 _E oD B e
' B L1 DTS (N) | (%) B 4 (AN | (N | (%) 215
- = 1
1 | BEMERBEITIEEORS 3 25 |—
) 2
= 20 26 213/ E£E
28k |RNEBEVLELETLEEDRTS 23 18.9|2% 8 2
FET(EF) 1
Trr— FEEE 28
3%k %5@%”*”"§§Z%&Téi&$$ 29 238 29 238|EEEE
? TEHS 1
=E 15
4R | EE DB 17 139 F&G0 1 17 139 &
FELT(EE) 1
_ BlEs 8 _
5% |BIEHOBHE 12 9.8 12 98|BIX &
FEHG 4
FE 18
64k |EFHDETE 19 15.6 19 15.6| £§
#EE 1
3R 12
SEEEE 1
7 |BRRXIIBEREFAFOBEE 16 13.1|ZBLEHEBE 1 16 1312
=R 1
HLUER 1
8ff |MRXIISEDHHE 3 2,58 & 3 3 25 #&
=11 122|  100.0
(2) RERBHE
— ERANBEEBRBERICEET S &t E %1 _E oD B B
' A L1 DRI (N) | (%) B2 (N | (N (%) 2305
1% |AHEE. KBAEEFOHE 0 0.0
ENERETORE | 2B0RAR
28k (FHHOREBREZVELTIAFEE. K 1 250 |}ABFEER 1
RiIEEEDORTE
FEEFHEELTF. TEAFE. v =
3%k FERESZDORE 1 250 |EERKE 1 1 250 E{EK
MR BT EBERVEBRETEOEE 2 500 |27 EE 2 2 500 &K
&5t 4 100.0




